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Introduction
°

All exercises will follow this general schedule

Identify potential understanding problems
— Ask your questions
— Recap of the lecture

Address the understanding problems
— Answer your questions
— Repeat certain topics

Walk through the exercises/solutions — Some hints and guidance
— Work time or presentation of results
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You have seen ...

the for a routing protocol

how routing algorithms can be

and as examples for local routing algorithms
the difference between and
the difference between and algorithms

how are used to calculate the path costs
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You have seen ...

that distance vector routing protocols

as an example for a distance vector routing protocol

how the works
what the problem is
how (with Poison Reversed) can be used to mitigate this

problem
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You have seen ...

that link state routing protocols

as an example for a link state routing protocol
that OSPF allows for

how the works
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You have seen ...
as another example for a link state routing protocol
as routing protocol for resource-constrained node networks (aka
IOT networks)
as link state routing protocol for

as an example for an
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You have seen ...
the , , and of transport layer protocols
how are used for on the transport layer
which ranges for these port numbers are defined by the IANA

that the common interface on the transport layer is a
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You have seen . ..
the and of TCP
how works in TCP
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What is an autonomous system?

Which two major classes for adaptive, dynamic routing protocols exist?

Which algorithms are implemented by each of the routing protocol classes from
subtask 27

The Border Gateway Protocol (BGP) is a protocol for. . .
Which routing protocol class from subtask 2 implements the BGP?

Open Shortest Path First (OSPF) is a protocol for. ..
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Which routing protocol class from subtask 2 implements OSPF?
The Routing Information Protocol (RIP) is a protocol for. ..
Which routing protocol class from subtask 2 implements the RIP?

When RIP is used, each Router communicates only with its direct neighbors. What
are the advantages and drawbacks of method?

When RIP is used, the path cost (metric) depend only on the number of Routers
(hops), which need to be passed on the way to the destination network. What is
the drawback of this method?

When OSPF is used, all Routers communicate with each other. What are the
advantages and drawbacks of method?
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Which protocol is used in OSPF for establishing and maintaining
relationships to neighboring routers?
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Explain what BGP hijacking is and list two popular incidents where it
was used and why.

What is the ASN our university's network reside in?


https://www.bigdatacloud.com/asn-lookup/AS680
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